AGREEMENT

This is an AGREEMENT made and entered into this 2nd day
of March, 2021, by and between the County of Humboldt, a
political subdivision of the State of California (hereinafter referred to as COUNTY)
and Van Meter Logging, Inc.,
a corporation organized and existing under the laws of the State of California;
hereinafter referred to as "CONTRACTOR".
County and Contractor for the consideration hereinafter named agree as follows:

Section 1 - SCOPE OF WORK

Contractor shall furnish all Labor, Tools and Materials and perform all the work for the:

STORM DAMAGE REPAIR TO ALDERPOINT ROAD (6B165) PM 9.45, 10.52, 11.94 & 11.98 PROJECT NO.: ER-32L0(294), (295), (296), (297) CONTRACT NO.: 217261, 217262, 217263, 217264

in accordance with the contract documents referred to in Section 3 of this Agreement.

Section 2 - CONTRACT PRICE

County shall pay, and Contractor shall accept Contractor's Bid Prices, as shown on EXHIBIT "A" attached hereto and made a part hereof, as full compensation for furnishing all materials and for doing all the work contemplated and embraced in this Agreement; also for all loss or damage, arising out of the work aforesaid, or from the actions of the elements, or from any unforeseen difficulties or obstructions which may arise or be encountered in the prosecution of the work until its acceptance by County, and for all risks of every description connected with the work; also for all expenses incurred by or in consequence of the suspension or discontinuance of the work and for well and faithfully completing the work, and the whole thereof, in the manner and according to the Plans and Specifications, and the requirements of the Engineer.

1) LAN 6, 24

Section 3 - CONTRACT DOCUMENTS

The complete contract between the parties hereto shall consist of the following, hereinafter referred to as the CONTRACT DOCUMENTS:

- Notice to Bidders

- Performance Bond

- Plans and Drawings

- Payment Bond

- Bid Form

- This Agreement

- Bidder's Bond

- Special Provisions

Supplemental Project Information

And, as published by the Department of Transportation, State of California, except as modified by the Special Provisions:

- Standard Plans dated 2018
- Revised Standard Plans dated 04-17-2020
- Standard Specifications dated 2018
- Revised Standard Specifications Dated 04-17-2020
- Equipment Rental Rates in effect at the time the work is performed

And, as published by the California Department of Industrial Relations, and the California Business, Transportation and Housing Agency,

- General Prevailing Wage Rates
- Labor and Surcharge Rates

And any addenda to any of the above documents, all of which are on file in the office of the Director of Public Works of the County of Humboldt. Each of said CONTRACT DOCUMENTS is incorporated and made a part of this Agreement by the reference contained in this Section.

All rights and obligations of the County and the Contractor are fully set forth and described in the Contract Documents. All of the above named documents are intended to be complimentary, so that any work called for in one, and mentioned in the other is to be performed and executed the same as if mentioned in all said documents.

Section 4 - BEGINNING OF WORK

Following receipt and full execution and approval of the Contract Documents, and posting of the requisite Bonds as called for therein, the COUNTY will issue a "Notice to Proceed". Under no circumstances shall the CONTRACTOR enter upon the site of work until receipt of the "Notice to Proceed", or unless so authorized in writing by the COUNTY.

Section 5 - TIME OF COMPLETION

IN WITNESS WHEREOF, The parties hereto have entered into this Agreement as of the date first above set forth.

COUNTY OF HUMBOLDT

(SEAL)	Chairman, Board of Sof the County of Hum State of California	
ATTEST:		
Clerk of the Board of the County of Hu State of California BY Clerk of the Board	of Supervisors mboldt,	CONTRACTOR BY TITLE BY TITLE
APPROVED AS TO	FORM:	(Two Signatures Required For Corporation)
BY N/A Deputy County C	Counsel	
INSURANCE CERT AND APPROVED:	IFICATES REVIEWED	
BY		
Risk Manager		

The work called for in this Agreement shall be commenced within fifteen (15) days of receipt of Notice to Proceed by COUNTY and shall be fully completed within a period of ______ 60 _____ working days beginning on the fifteenth calendar day after the date of said approval of contract.

Section 6 - PREVAILING WAGE

Copies of the prevailing wage rates of per diem wages are on file in the Humboldt County Public Works office at 1106 Second Street, Eureka, California and are available to any interested person on request.

Section 7 - WORKERS' COMPENSATION

By my signature hereunder, as CONTRACTOR, I certify that I am aware of the provisions of Section 3700 of the Labor Code which requires every employer to be insured against liability for Workers' Compensation or to undertake self insurance in accordance with the provisions of that code, and I will comply with such provisions before commencing the performance of the work of this contract.

Section 8 - COMPLIANCE WITH LAWS

The Contractor agrees to comply with all local, state, and federal laws and regulations, including but not limited to the Americans With Disabilities Act. The Contractor further agrees to comply with any applicable federal, state or local licensing standards, any applicable accrediting standards, and any other applicable standards or criteria established locally or by the state or federal governments.

This agreement shall be governed by and construed in accordance with the laws of the State of California.

Section 9 - NOTICES

All notices shall be in writing and delivered in person or transmitted by mail. Notices required to be given to the COUNTY shall be addressed as follows:

Humboldt County Department of Public Works 1106 Second Street, Eureka, California, 95501

Notices required to be given to CONTRACTOR shall be addressed as follows:					

BID FORM (EXHIBIT A) STORM DAMAGE REPAIR TO ALDERPOINT ROAD (6B165) PM 9.45, 10.52, 11.94 & 11.98 PROJECT NO.: ER-32L0(294), (295), (296), (297) CONTRACT NO.: 217261, 217262, 217263, 217264

ITEM NO.	ITEM COD	E	ITEM DESCRIPTION	UNIT	QTY	UNIT PRICE	TOTAL
1	120090		Construction Area Signs	EA	27	225	6 075
2	120100		Traffic Control System	LS	1	20 000	20 000
3	120202		Portable Signal System	LS	1	20 000	20 000
4	129000		Temporary Railing (Type K)	EA	27	200	5 400
5	130100		Job Site Management	LS	1	2000	2 000
6	130200		Prepare Water Pollution Contol Program	LS	1	900	900
7	130680		Temporary Silt Fence	LF	380	7	2660
8	170103		Clearing and Grubbing (LS)	LS	1	2000	2000
9	190101		Roadway Excavation	CY	3,051	28	85 428
10	190136A		Construct Detour	LS	1	11 000	11 000
11	190185		Shoulder Backing	CY	28	100	2 800
12	192037	F	Structure Excavation (Retaining Wall)	CY	1,772	28	49 616
13	193013		Structure Backfill (Retaining Wall)	CY	447	62	27 714
14	198050		Embankment	CY	2,626	31	81 406
15	198250A		Geosynthetic Reinforcement (Biaxial Geogrid)	SQYD	1,173	5	5865
16	198250B		Geosynthetic Reinforcement (Uniaxial Geogrid)	SQYD	3,119	6	18714
17	210212		Dry Seed (SQFT)	SQFT	11,519	. 20	2303.80
18	210280		Rolled Erosion Control Product (Blanket)	SQFT	5,913	1.40	8278.20
19	210350		Fiber Rolls	LF	770	11	8470
20	210420		Straw	SQFT	5,606	.15	840.90
21	260203		Class 2 Aggregate Base (CY)	CY	417	100	41700
22	390132		Hot Mix Asphalt (Type A)	TON	287	225	64 5 7 5
23	477020	F	Mechanically Stabilized Embankment (Wire Wall)	SQFT	2,144	22.	47168
24	680902		6" Perforated Plastic Pipe Underdrain	LF	332	8.50	2822
25	680903		6" Non-Perforated Plastic Pipe Underdrain	LF	126	8.50	1071
26	681990		Filter Fabric (Class B)	SQYD	2,532	1. 75	4431
27	682023		Class 1 Permeable Material (Type B)	CY	841	68	57 188
28	723095		Rock Slope Protection (20 lb, Class I Method B) (CY)	CY	12	100	1200
29	782120		Relocate Mailbox	EA	1	500	500
30	832006		Midwest Guardrail System (Steel Post)	LF	75	153.33	11 499.75
31	839585		Alternative Flared Terminal System	EA	2	4500	9000
32	840501		Thermoplastic Traffic Stripe	LF	700	11.50	8050
33	999990		Mobilization SIGNATION: P=PARTIAL PAY, F=FINAL PAY QUANTITY	LS	1	24000	24000

BID TOTAL 634 675.65

MMS ME

ACKNOWLEDGEMENT OF ADDENDA

ADDENDUM NO.

INITIAL Bym Bym Brett var meto

(Bidder's Signature)

PRESIDENT

(Title)



County of Humboldt
Department of Public Works
1106 Second Street
Eureka, CA 95501
TEL (707) 445-7652
ADDENDUM NO. 1

(Issued January 22, 2021)

STORM DAMAGE REPAIRS TO ALDERPOINT ROAD (6B165) AT PM 9.45, 10.52, 11.94 & 11.98

PROJECT NO.: ER-32L0(294), (295), (296), (297) CONTRACT NO.: 217261, 217262, 217263, 217264

The Special Provisions and Plans are hereby modified in accordance with the following:

1. The bid opening location is changed to the Humboldt County Public Works building on 1106 2nd Street, Eureka CA. Bids will be opened outside the building in the adjacent parking lot. The bid opening date and time have not changed.

Options for delivering bid packages:

- A. Mail or use delivery service (FedEx or UPS) to send bid package to Public Works, 1106 2nd Street, Eureka, CA.
- B. Deposit bid package into mail slot in the front door of Public Works, 1106 2nd Street, Eureka, CA.
- C. Hand deliver to Engineering Staff between 1:45pm and 2:00pm at the opening site.
- Section 39-2.02B(2) Table "Type A HMA Mix Design Requirements" of the Special Provisions shall be replaced by the attached "Addendum No.1 Type A HMA Mix Design Requirements".
- 3. Section 39-2.02B(4)(a) Table "Aggregate Quality" of the Standard Specifications shall be replace by the attached "Addendum No.1 Aggregate Quality".

NT
te receipt of this Addendum please sign ublic Works at (707) 445-7409.
Date
Pages Received

							•	
Λ.	m	m	24	n	W 7	-	ď	
A	v	IJ	ĸ	U	v	c	u	

Jeff Ball

1/22/2021

Date

ADDENDUM NO. 1 Type A HMA Mix Design Requirements

Quality characteristic	Test method	Requirement
Air voids content (%)	AASHTO T 269 ^a	N _{initial} > 8.0
		$N_{design} = 4.0 \ (\pm 2.0\%)$
		$(N_{design} = 5.0 \text{ for } 1\text{-inch aggregate})$
		$N_{\text{max}} > 2.0$
Gyration compaction (no. of gyrations)	AASHTO T 312	N _{initial} = 8
		$N_{\text{design}} = 85.0$
		$N_{max} = 130$
Voids in mineral aggregate (min, %) ^b	MS-2	
Gradation:	Asphalt Mixture	
No. 4	Volumetrics	16.5–19.5
3/8-inch		15.5–18.5
1/2-inch		14.5–17.5
3/4-inch		13.5–16.5
1-inch		
with $NMAS = 1$ -inch		13.5–16.5
with $NMAS = 3/4$ -inch		14.5-17.5
Dust proportion	MS-2	
	Asphalt Mixture	0.6–1.3
	Volumetrics	
Hamburg wheel track (min number of passes	AASHTO T 324	
at 0.55-inch rut depth)	(Modified) ^c	
Binder grade:	0.00	
PG 58		10,000
PG 64		15,000
PG 70		20,000
PG 76 or higher		25,000

^aCalculate the air voids content of each specimen using AASHTO T 275, Method A, to determine bulk specific gravity. Use AASHTO T 209, Method A, to determine theoretical maximum specific gravity. Use a digital manometer and pycnometer when performing AASHTO T 209.

^bMeasure bulk specific gravity using AASHTO T 275, Method A.

^cTest plant-produced Type A HMA.

ADDENDUM NO. 1 Aggregate Quality

Quality characteristic	Test method	Requirement
Percent of crushed particles:		
Coarse aggregate (min, %)		
One-fractured face		90
Two-fractured faces	A A CHTO T 225	85
Fine aggregate (min, %)	AASHTO T 335	
(Passing No. 4 sieve		
and retained on No. 8 sieve.)		
One-fractured face		70
Los Angeles Rattler (max, %)		
Loss at 100 Rev.	AASHTO T 96	12
Loss at 500 Rev.		40
Sand equivalent (min) ^a	AASHTO T 176	47
Flat and elongated particles (max, % by weight at 5:1)	ASTM D4791	10
Fine aggregate angularity (min, %) ^b	AASHTO T 304, Method A	45

^aThe reported value must be the average of 3 tests from a single sample. Use of a sand reading indicator is required as shown in AASHTO T 176, Figure 1. Sections 4.7, "Manual Shaker," 7.1.2, "Alternate Method No. 2," and 8.4.3, "Hand Method," do not apply. Prepare the stock solution as specified in section 4.8.1, "Stock solution with formaldehyde," except omit the addition of formaldehyde.

^bThe Engineer waives this specification if the Type A HMA contains 10 percent or less of nonmanufactured sand by weight of total aggregate, except if your JMF fails verification. Manufactured sand is fine aggregate produced by crushing rock or gravel.



Approved:

201 - 11

County of Humboldt
Department of Public Works
1106 Second Street
Eureka, CA 95501
TEL (707) 445-7652
ADDENDUM NO. 2

(Issued January 29, 2021)

STORM DAMAGE REPAIRS TO ALDERPOINT ROAD (6B165) AT PM 9.45, 10.52, 11.94 & 11.98 PROJECT NO.: ER-32L0(294), (295), (296), (297)

CONTRACT NO.: 217261, 217262, 217263, 217264

The Special Provisions and Plans are hereby modified in accordance with the following:

1. Bid Item No. 13 "Structure Backfill (Retaining Wall)" shall meet the requirements outlined in section 47-2.02C of the Caltrans Standard Specifications 2018. Payment for structure backfill includes the cost to import material.

Fifting Ball	1/29/2021
Jeff Ball/// RCE 70631	Date
	IMPORTANT
This Addendum is being sent EM and EMAIL/FAX this page back to	AIL/FAX. To indicate receipt of this Addendum please sign the Department of Public Works at (707) 445-7409.
Received by:	Date
Company:	# Pages
	Received
	Total Pages Sent 1